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0000000 IXOOOOOOUO0OO0OO0OO0O0OOOO grating spectrometer (CAT: Critical Angle
Transimission) 0 0000000000000 O00O0OOO0OO0O00O0OO0OOOOOOOOOOOOO
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2ADR : Adiabatic Demagnetization Refrigerator O O
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(2.3)
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S = NkpIn(2J + 1) (2.7)
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Shottky oooo b 16} Mol

0000 (K) |0o00 (K) | (J/molK) | (J/mol-K) | wgt(g)

CrKOOODOD ~0.08 ~0.02 0.135 | 4.11 x 1073 499.4
Fe(NHy), OO O OO ~0.08 ~0.04 0.112 | 3.52 x 1073 482.2
Mn(SO04)2(NH,)26H,0 0.12 0.128 391
Cey Mgs(NO3)s 24H,0 ~0.006 | 6.24 x 105 714.8

021: 000000000000 (?)00)
p: 0000000B 000000
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